PROCEDURE FOR ONE TIME MAINTENANCE ON UNMAINTAINED ROADS

DATE		10/15/2012 MAINTENANCE AREA			3
NAME	Fred Rossi				
ADDRESS	Deerhaven		PHONE		
NAME OF RO	DAD	Grading and Materials			
	SECTION	TOWNSHP		RANGE	
SPECIAL IN	STRUCTIONS:				-
\$1,500 M	aximum Time beg	jins at departure from maintenance barn a	nd ends upon re	eturn to maintenan	ce barn.
ESTIMATE:					
	70.00	cu/yd clay	@	3.50 = \$	245.00
		ton limerock	@	15.00 = \$	0.00
	6.00	hours grader	@	125.00 = \$	750.00
	5.00	hours dump truck (14 cu/yd)	@	65.00 = \$	325.00
	2.00	hours front end loader	@	75.00 = \$	150.00
		hours arm mower (A-boom)	@	45.00 = \$	0.00
		hours asphalt truck	@	75.00 = \$	0.00
		ton asphalt cement	@	75.00 = \$	0.00
		hours flatbed truck	@	50.00 = \$	0.00
		hours trackhoe	@	75.00 = \$	0.00
		hours bulldozer	@	125.00 = \$	0.00
		hours gradall	@	110.00 = \$	0.00
		hours backhoe	@	40.00 = \$	0.00
		hours vibratory steel wheel roller	@ @	70.00 = \$ 70.00 = \$	0.00
		hours roller, rubber tired hours road mixer	@	90.00 = \$	0.00
		hours water truck	@	65.00 = \$	0.00
		hours tractor/boxblade	@	35.00 = \$	0.00
		hours broom tractor	@	40.00 = \$	0.00
		hours bobcat	@	30.00 = \$	0.00
		hours aerial lift truck	@	70.00 = \$	0.00
		hours pickup truck 3/4 ton	@	20.00 = \$	0.00
		Hours pickap track by From	_	TOTAL:	1470.00
Check Right	-of-Way				
Notify Prope	erty Owners of	Cost			
Receipt of M	loney				

work Completerie_dept\Public Works\Road Operations\MaintArea3\Forms\One Time Maintenance\One Time

PROCEDURE FOR ONE TIME MAINTENANCE ON UNMAINTAINED ROADS

DATE		10/15/2012		MAINTEN	ANCE AREA_	3
NAME	Fred Rossi					
ADDRESS	Deerhaven			PHONE		
NAME OF RO	AD	Grading Only				
	SECTION		TOWNSHP		RANGE	
SPECIAL INS	STRUCTIONS:	,				
\$1,500 Ma	nximum Time beg	gins at departure fr	rom maintenance barn a	nd ends upon r	eturn to maintena	nce barn.
ESTIMATE:		ave/end alone			2 50 4	0.00
		cu/yd clay		@	100000000000000000000000000000000000000	0.00
	10.00	ton limerock		@		0.00
	10.00		L (4.4 /)	0		1250.00
			ruck (14 cu/yd)	@	CEARDINAME. NO.	0.00
		hours front e		@	00 00 000 M	0.00
			ower (A-boom)	@		0.00
		hours asphalt		@		0.00
		ton asphalt co		@	5-27/2	0.00
		hours flatbed		@		0.00
		hours trackho		@		0.00
		hours bulldoz		@	A CONTRACTOR OF THE CONTRACTOR	0.00
		hours gradall		@	· ·	0.00
		hours backho		@		0.00
			ry steel wheel roller	@		0.00
		hours roller, i		@		0.00
		hours road m		@	· ·	0.00
		hours water t		@		0.00
		hours tractor,		@		0.00
		hours broom		@		0.00
		hours bobcat		@		0.00
		hours aerial l		@	100 C-0 C C C C C C C C C C C C C C C C C	0.00
		hours pickup	truck 3/4 ton	@		0.00
					TOTAL:	1250.00
Check Right-	of-Way					
Notify Prope	rty Owners of	Cost				
Receipt of M	oney	,				

PROCEDURE FOR ONE TIME MAINTENANCE ON UNMAINTAINED ROADS

DATE		10/15/2012	MAINTENANCE AREA		
NAME	Fred Rossi				
ADDRESS	Deerhaven		PHONE		
NAME OF RO	DAD				
	SECTION	TOWNSHP		RANGE	_
SPECIAL INS	STRUCTIONS:				
\$1,500 Ma	aximum Time be	gins at departure from maintenance barn a	nd ends upon re	eturn to maintenance	e barn.
ESTIMATE:					12 1212
		cu/yd clay	@	3.50 = \$	0.00
		ton limerock	@	15.00 = \$	0.00
		hours grader	@	125.00 = \$	0.00
		hours dump truck (14 cu/yd)	@	65.00 = \$	0.00
		hours front end loader	@	75.00 = \$	0.00
		hours arm mower (A-boom)	@	45.00 = \$	0.00
		hours asphalt truck	@	75.00 = \$	0.00
		ton asphalt cement	@	75.00 = \$	0.00
		hours flatbed truck	@	50.00 = \$	0.00
		hours trackhoe hours bulldozer	@	75.00 = \$	0.00
		THE PROPERTY AND SECURE SHOWS AND SECURE SHOWS AND SECURE SHOWS AND SECURE SHOWS	0	125.00 = \$	0.00
		hours gradall hours backhoe	0	110.00 = \$	0.00
		hours vibratory steel wheel roller	@ @	40.00 = \$ 70.00 = \$	0.00
		hours roller, rubber tired	@	70.00 = \$	0.00
		hours road mixer	@	90.00 = \$	0.00
		hours water truck	@	65.00 = \$	0.00
		hours tractor/boxblade	@	35.00 = \$	0.00
		hours broom tractor	@	40.00 = \$	0.00
	-	hours bobcat	@	30.00 = \$	0.00
		hours aerial lift truck	@	70.00 = \$	0.00
		hours pickup truck 3/4 ton	@	20.00 = \$	0.00
		nours pickup truck 3/4 ton	-	TOTAL:	0.00
				TOTAL:	0.00
Check Right-	of-Way				
Notify Prope	rty Owners of	Cost			
Receipt of M	oney				

PROCEDURE FOR ONE TIME MAINTENANCE ON UNMAINTAINED ROADS

DATE .		10/15/2012	MAINTENANCE AREA		3
NAME	Fred Rossi				
ADDRESS	Deerhaven		PHONE		
NAME OF ROA	\D	South Rd			
	SECTION	TOWNSHP		RANGE	
SPECIAL INST	RUCTIONS:	Job would requir	e tree trimming	prior to work	being done.
Tree trimming r	esponsibility of	Deerhaven Subdivision.			
\$1,500 Max	imum Time beg	jins at departure from maintenance ba	rn and ends upon	return to mainte	nance barn.
ESTIMATE:					
	28.00	cu/yd clay	(3.50 = \$	98.00
		ton limerock	(15.00 = \$	
	1.00	hours grader	(125.00 = \$	125.00
	2.00		(65.00 = \$	130.00
	1.50		(9 75.00 = \$	
		hours arm mower (A-boom)	(9 45.00 = \$	0.00
		hours asphalt truck	(9 75.00 = \$	0.00
		ton asphalt cement	(9 75.00 = \$	0.00
		hours flatbed truck	(50.00 = \$	0.00
		hours trackhoe	(9 75.00 = \$	0.00
		hours bulldozer	(125.00 = \$	0.00
		hours gradall	(110.00 = \$	0.00
-		hours backhoe	(0 40.00 = \$	0.00
		hours vibratory steel wheel rol	ller @	70.00 = \$	0.00
		hours roller, rubber tired	(9 70.00 = \$	0.00
		hours road mixer	(90.00 = \$	0.00
		hours water truck	(65.00 = \$	0.00
		hours tractor/boxblade	(35.00 = \$	0.00
		hours broom tractor	(40.00 = \$	0.00
		hours bobcat	(30.00 = \$	0.00
-	-	hours aerial lift truck	(0 70.00 = \$	0.00
		hours pickup truck 3/4 ton	(20.00 =	0.00
	,			TOTAL:	465.50
Check Right-o	of-Way				
Notify Proper	ty Owners of	Cost			
Receipt of Mo	ney				

PROCEDURE FOR ONE TIME MAINTENANCE ON UNMAINTAINED ROADS

DATE		10/15/2012	MAINTENANCE AREA		3
NAME	Fred Rossi				
ADDRESS	Deerhaven		PHONE		
NAME OF RO	DAD	South West Av			
	SECTION	TOWNSHP		RANGE	,
SPECIAL IN	STRUCTIONS:	Job would require t	tree trimming	prior to work l	peing done.
Tree trimming	j responsibility of	Deerhaven Subdivision.			
\$1,500 M	aximum Time beç	gins at departure from maintenance barn	and ends upon re	eturn to mainten	ance barn.
ESTIMATE:					
	14.00	cu/yd clay	@	3.50 = \$	49.00
		ton limerock	@	15.00 = \$	0.00
	1.00	Market Control of the	@	125.00 = \$	125.00
	1.00		@	65.00 = \$	65.00
	1.50		@	75.00 = \$	112.50
		hours arm mower (A-boom)	@	45.00 = \$	0.00
		hours asphalt truck	@	75.00 = \$	0.00
		ton asphalt cement	@	75.00 = \$	0.00
		hours flatbed truck	@	50.00 = \$	0.00
		hours trackhoe	@	75.00 = \$	0.00
		hours bulldozer	@	125.00 = \$	0.00
		hours gradall	@	110.00 = \$	0.00
		hours backhoe	@	40.00 = \$	0.00
		hours vibratory steel wheel roller	3375	70.00 = \$	0.00
	-	hours roller, rubber tired	@	70.00 = \$	0.00
		hours road mixer	@	90.00 = \$	0.00
		hours water truck	@	65.00 = \$	0.00
		hours tractor/boxblade	@	35.00 = \$	0.00
		hours broom tractor	@	40.00 = \$	0.00
		hours bobcat	@	30.00 = \$	0.00
		hours aerial lift truck	@	70.00 = \$	0.00
		hours pickup truck 3/4 ton	@	20.00 = \$	0.00
		Processor Processor Processor Contraction Contraction		TOTAL:	351.50
Check Right	-of-Way				
Notify Prope	erty Owners of	Cost			
Receipt of M	loney				

work Completed education works (Noad Operations MaintArea (Noad Operations (Noad Oper

PROCEDURE FOR ONE TIME MAINTENANCE ON UNMAINTAINED ROADS

DATE		10/15/2012	MAINTENANCE AREA		3
NAME	Fred Rossi				
ADDRESS	Deerhaven		PHONE		
NAME OF RO	DAD	Far West Av			
	SECTION	TOWNSHP		RANGE	
SPECIAL INS	STRUCTIONS:			-	
\$1,500 M	aximum Time beg	jins at departure from maintenance barn a	nd ends upon re	turn to maintenanc	e barn.
ESTIMATE:					
	42.00	EST-COMP.	@	3.50 = \$	147.00
		ton limerock	@	15.00 = \$	0.00
	1.00		@	125.00 = \$	125.00
	3.00		@	65.00 = \$	195.00
	1.50		@	75.00 = \$	112.50
		hours arm mower (A-boom)	@	45.00 = \$	0.00
		hours asphalt truck	@	75.00 = \$	0.00
		ton asphalt cement	@	75.00 = \$	0.00
		hours flatbed truck	@	50.00 = \$	0.00
		hours trackhoe	@	75.00 = \$	0.00
		hours bulldozer	@	125.00 = \$	0.00
		hours gradall	@	110.00 = \$	0.00
		hours backhoe	@	40.00 = \$	0.00
		hours vibratory steel wheel roller	@	70.00 = \$	0.00
		hours roller, rubber tired	@	70.00 = \$	0.00
		hours road mixer	@	90.00 = \$	0.00
		hours water truck	@	65.00 = \$	0.00
		hours tractor/boxblade	@	35.00 = \$	0.00
	2	hours broom tractor	@	40.00 = \$	0.00
	_	hours bobcat	@	30.00 = \$	0.00
		hours aerial lift truck	@	70.00 = \$	0.00
		hours pickup truck 3/4 ton	@	20.00 = \$	0.00
				TOTAL:	579.50
Check Right	-of-Way	-			
Notify Prope	erty Owners of	Cost			
Receipt of M	oney				

PROCEDURE FOR ONE TIME MAINTENANCE ON UNMAINTAINED ROADS

DATE		10/15/2012		MAINTENANCE AREA		3
NAME	Fred Rossi					
ADDRESS	Deerhaven			PHONE	2	
NAME OF ROA	\D	Central Bv				
;	SECTION		TOWNSHP		RANGE	
SPECIAL INST	RUCTIONS:		Job would require	e tree trimming	prior to work	being done.
Tree trimming r	esponsibility of	Deerhaven Sul	bdivision.			
\$1,500 Max	imum Time beç	jins at departure f	rom maintenance ba	rn and ends upon r	eturn to mainte	nance barn.
ESTIMATE:						
	70.00	cu/yd clay		@	3.50 = \$	245.00
-		ton limerock		@		
-	1.50	hours grader		@	125.00 = \$	
	5.00	hours dump	truck (14 cu/yd)	@	65.00 = \$	325.00
-	2.00	hours front e	nd loader	@	75.00 = \$	150.00
-		hours arm m	ower (A-boom)	@	45.00 = \$	0.00
_		hours asphal	t truck	@	75.00 = \$	0.00
_		ton asphalt c	ement	@	75.00 = \$	0.00
		hours flatbed	l truck	@	50.00 = \$	0.00
_		hours trackho	oe	@		0.00
_		hours bulldoz		@		0.00
_		hours gradall		@		0.00
_		hours backho		@	•	0.00
_			ory steel wheel rol			0.00
_		hours roller,		@		0.00
_		hours road m	nixer	@	90.00 = \$	0.00
_		hours water		@		0.00
_		hours tractor		@	***	0.00
_		hours broom		@	AND	0.00
_		hours bobcat		@		0.00
-		hours aerial I		@		0.00
-		hours pickup	truck 3/4 ton	@		0.00
					TOTAL:	907.50
Check Right-o	f-Way					
Notify Propert	y Owners of	Cost				
Receipt of Mo	ney					

PROCEDURE FOR ONE TIME MAINTENANCE ON UNMAINTAINED ROADS

DATE		10/15/2012		MAINTE	NANCE	AREA	3
NAME	Fred Rossi						
ADDRESS	Deerhaven			PHONE			
NAME OF RO	AD	East Ct					
	SECTION		TOWNSHP		RANGE		
SPECIAL INS	STRUCTIONS:		Road is grass.	Not recommend	ed for gra	ading.	
\$1,500 Ma	nximum Time be	gins at departure i	rom maintenance	barn and ends upon	return to I	maintenance	barn.
ESTIMATE:		As Pres' No					
		_ cu/yd clay				50 = \$	0.00
		ton limerock				00 = \$	0.00
		hours grade				00 = \$	0.00
	8	-	truck (14 cu/yd)			00 = \$	0.00
		hours front				00 = \$	0.00
			iower (A-boom)			00 = \$	0.00
		hours aspha				00 = \$	0.00
		ton asphalt				00 = \$	0.00
		hours flatbed				00 = \$	0.00
		hours trackh				00 = \$	0.00
		hours bulldo				00 = \$	0.00
		hours gradal				00 = \$	0.00
		hours backh				00 = \$	0.00
			ory steel wheel i			00 = \$	0.00
		hours roller,				00 = \$	0.00
		hours road r				00 = \$	0.00
		hours water				00 = \$	0.00
		hours tracto			(C)	00 = \$	0.00
		hours broom				00 = \$	0.00
		hours bobca				00 = \$	0.00
		hours aerial				00 = \$	0.00
		_ hours pickup	truck 3/4 ton	(00 = \$	0.00
					TOTAL	:	0.00
Check Right-	of-Way						
Notify Prope	rty Owners of	Cost					
Receipt of M	oney						

work Completed edept/Public Works\Road Operations\MaintArea3\Forms\One Time Maintenance\One Time

PROCEDURE FOR ONE TIME MAINTENANCE ON UNMAINTAINED ROADS

DATE		10/15/2012	MAINTEN	ANCE AREA	3
NAME	Fred Rossi				
ADDRESS	Deerhaven		PHONE		
NAME OF RO	AD	Lakeview Bv			
	SECTION	TOWNSHP		RANGE	
SPECIAL INS	STRUCTIONS:				
\$1,500 Ma	ıximum Time beg	jins at departure from maintenance barn	and ends upon re	eturn to maintenand	ce barn.
ESTIMATE:					
	70.00	cu/yd clay	@	3.50 = \$	245.00
		ton limerock	@	15.00 = \$	0.00
	1.00		@	125.00 = \$	125.00
	5.00		@	65.00 = \$	325.00
	2.00	hours front end loader	@	75.00 = \$	150.00
		hours arm mower (A-boom)	@	45.00 = \$	0.00
		hours asphalt truck	@	75.00 = \$	0.00
		ton asphalt cement	@	75.00 = \$	0.00
		hours flatbed truck	@	50.00 = \$	0.00
		hours trackhoe	@	75.00 = \$	0.00
		hours bulldozer	@	125.00 = \$	0.00
		hours gradall	@	110.00 = \$	0.00
		hours backhoe	@	40.00 = \$	0.00
		hours vibratory steel wheel roller		70.00 = \$	0.00
		hours roller, rubber tired	@	70.00 = \$	0.00
		hours road mixer	@	The second secon	
			051.00	90.00 = \$	0.00
		hours water truck	@	65.00 = \$	0.00
		hours tractor/boxblade	@	35.00 = \$	0.00
		hours broom tractor	@	40.00 = \$	0.00
		hours bobcat	@	30.00 = \$	0.00
		hours aerial lift truck	@	70.00 = \$	0.00
		hours pickup truck 3/4 ton	@	20.00 = \$	0.00
				TOTAL:	845.00
Check Right-	of-Way			-	
Notify Proper	ty Owners of (Cost			
Receipt of Mo	oney		-		

Works\Road Operations\MaintArea3\Forms\One Time Maintenance\One Time Maintenance - Deernaven

PROCEDURE FOR ONE TIME MAINTENANCE ON UNMAINTAINED ROADS

DATE		10/15/2012	MAINTEN	IANCE AREA	3
NAME	Fred Rossi				
ADDRESS	Deerhaven		PHONE		
NAME OF RO	DAD	North West Av			
	SECTION	TOWNSHP		RANGE	
SPECIAL IN	STRUCTIONS:	Job would require	tree trimming	prior to work	being done.
Tree trimming	responsibility of	Deerhaven Subdivision.			
61 F00 M	-viewe Time Lee	due al describer 6		4	7
\$1,500 M	axımum Time beç	jins at departure from maintenance bari	n and ends upon r	eturn to mainter	ance barn.
ESTIMATE:					
	42.00	cu/yd clay	@	3.50 = \$	147.00
		ton limerock	@	15.00 = \$	0.00
	1.00	hours grader	@	125.00 = \$	125.00
	3.00	hours dump truck (14 cu/yd)	@	65.00 = \$	195.00
	1.50	hours front end loader	@	75.00 = \$	112.50
		hours arm mower (A-boom)	@	45.00 = \$	0.00
		hours asphalt truck	@	75.00 = \$	0.00
		ton asphalt cement	@	75.00 = \$	0.00
		hours flatbed truck	@	50.00 = \$	0.00
		hours trackhoe	@	75.00 = \$	0.00
		hours bulldozer	@	125.00 = \$	0.00
		hours gradall	@	110.00 = \$	0.00
		hours backhoe	@	40.00 = \$	0.00
		hours vibratory steel wheel rolle	er @	70.00 = \$	0.00
		hours roller, rubber tired	@	70.00 = \$	0.00
		hours road mixer	@	90.00 = \$	0.00
		hours water truck	@	65.00 = \$	0.00
		hours tractor/boxblade	@	35.00 = \$	0.00
		hours broom tractor	@	40.00 = \$	0.00
		hours bobcat	@	30.00 = \$	0.00
		hours aerial lift truck	@	70.00 = \$	0.00
		hours pickup truck 3/4 ton	@	20.00 = \$	0.00
		elderivation (Company of the Company		TOTAL:	579.50
Check Right	-of-Way				
Notify Prope	erty Owners of	Cost			
Receipt of M	oney				

PROCEDURE FOR ONE TIME MAINTENANCE ON UNMAINTAINED ROADS

DATE		10/15/2012	MAINTENANCE AREA		3
NAME	Fred Rossi				
ADDRESS	Deerhaven		PHONE		
NAME OF R	OAD	North Bv			
	SECTION	TOWNSHP		RANGE	
SPECIAL IN	STRUCTIONS:	Job would requ	uire tree trimming	prior to work	being done.
Tree trimming	g responsibility of	Deerhaven Subdivision.			
\$1,500 M	laximum Time beg	jins at departure from maintenance	barn and ends upon r	eturn to mainte	nance barn.
ESTIMATE:					
	42.00	cu/yd clay	@	3.50 = \$	147.00
		ton limerock	@	15.00 = \$	0.00
	1.00	hours grader	@	125.00 = \$	125.00
	3.00	hours dump truck (14 cu/yd) @	65.00 = \$	195.00
	1.50	hours front end loader	@	75.00 = \$	112.50
		hours arm mower (A-boom)	@	45.00 = \$	0.00
		hours asphalt truck	@	75.00 = \$	0.00
		ton asphalt cement	@		0.00
		hours flatbed truck	@	and the second second second	0.00
		hours trackhoe	@	an entretended	0.00
		hours bulldozer	@		0.00
		hours gradall	@		0.00
		hours backhoe	@	100000000000000000000000000000000000000	0.00
		hours vibratory steel wheel r		500	0.00
		hours roller, rubber tired	@	7/3	0.00
		hours road mixer	@		0.00
		hours water truck	@		0.00
		hours tractor/boxblade	@	100	0.00
		hours broom tractor	@		0.00
		hours bobcat	@		0.00
		hours aerial lift truck	@	38	0.00
		hours pickup truck 3/4 ton	@	20.00 = \$ TOTAL:	0.00 579.50
Check Right	-of-Way				
Notify Prope	erty Owners of	Cost			
, Receipt of M					
<u> </u>	0000	10			

PROCEDURE FOR ONE TIME MAINTENANCE ON UNMAINTAINED ROADS

DATE		10/15/2012		MAINTENANCE AREA		3
NAME	Fred Rossi					
ADDRESS	Deerhaven			PHONE		
NAME OF ROA	AD	Central Av				
	SECTION		TOWNSHP		RANGE	
SPECIAL INS	TRUCTIONS:		Job would requir	e tree trimming	prior to work l	peing done.
Tree trimming i	responsibility of	Deerhaven Sul	bdivision.			
\$1,500 Max	kimum Time beg	jins at departure f	rom maintenance ba	rn and ends upon r	eturn to mainten	ance barn.
ESTIMATE:						
LOTATIATE	56.00	cu/yd clay		@	3.50 = \$	196.00
		ton limerock		@	15.00 = \$	0.00
	1.50	hours grader		@	125.00 = \$	187.50
•	4.00	N 100 100 100 100 100 100 100 100 100 10	truck (14 cu/yd)	@	65.00 = \$	260.00
	1.50	hours front e		@	75.00 = \$	112.50
3.		hours arm m	ower (A-boom)	@	45.00 = \$	0.00
		hours asphal	t truck	@	75.00 = \$	0.00
•		ton asphalt o	ement	@	75.00 = \$	0.00
		hours flatbed	l truck	@	50.00 = \$	0.00
:- :-		hours trackho	oe	@	75.00 = \$	0.00
		hours bulldoz	zer	@	125.00 = \$	0.00
		hours gradal		@	110.00 = \$	0.00
		hours backho	oe .	@	40.00 = \$	0.00
			ory steel wheel rol	ler @	70.00 = \$	0.00
		hours roller,		@	70.00 = \$	0.00
		hours road m	nixer	@	90.00 = \$	0.00
		hours water	truck	@	65.00 = \$	0.00
E.= 8∎		hours tractor	/boxblade	@	35.00 = \$	0.00
		hours broom	tractor	@	40.00 = \$	0.00
		hours bobcat		@	30.00 = \$	0.00
		hours aerial l	ift truck	@	70.00 = \$	0.00
		hours pickup	truck 3/4 ton	@	20.00 = \$	0.00
					TOTAL:	756.00
Check Right-c	of-Way					
Notify Proper	ty Owners of	Cost				
Receipt of Mo	ney					

WolfRCEFSOI\Share_dept\Public Works\Road Operations\MaintArea3\Forms\One Time Maintenance\One Time Maintenance - Deerhaven

PROCEDURE FOR ONE TIME MAINTENANCE ON UNMAINTAINED ROADS

DATE	10/15/2012		MAINTEN	3	
NAME	Fred Rossi				
ADDRESS	Deerhaven		PHONE		
NAME OF RO	OAD	Central Ct			
	SECTION	TOWNSHP		RANGE	
SPECIAL INS	STRUCTIONS:				
\$1,500 Ma	aximum Time beç	gins at departure from maintenance ba	rn and ends upon re	eturn to maintenand	ce barn.
ESTIMATE:					
		cu/yd clay	@	3.50 = \$	0.00
		ton limerock	@	15.00 = \$	0.00
	0.50	hours grader	@	125.00 = \$	62.50
		hours dump truck (14 cu/yd)	@	65.00 = \$	0.00
		hours front end loader	@	75.00 = \$	0.00
		hours arm mower (A-boom)	@	45.00 = \$	0.00
		hours asphalt truck	@	75.00 = \$	0.00
		ton asphalt cement	@	75.00 = \$	0.00
		hours flatbed truck	@	50.00 = \$	0.00
		hours trackhoe	@	75.00 = \$	0.00
		hours bulldozer	@	125.00 = \$	0.00
		hours gradall	@	110.00 = \$	0.00
		hours backhoe	@	40.00 = \$	0.00
		hours vibratory steel wheel rol	ler @	70.00 = \$	0.00
		hours roller, rubber tired	@	70.00 = \$	0.00
		hours road mixer	@	90.00 = \$	0.00
		hours water truck	@	65.00 = \$	0.00
		hours tractor/boxblade	@	35.00 = \$	0.00
		hours broom tractor	@	40.00 = \$	0.00
		hours bobcat	@	30.00 = \$	0.00
		hours aerial lift truck	@	70.00 = \$	0.00
		hours pickup truck 3/4 ton	@	20.00 = \$	0.00
				TOTAL:	62.50
Check Right-	of-Way	-			
Notify Prope	rty Owners of	Cost			
Receipt of M	oney				

work Completed e_dept\Public Works\Road Operations\MaintArea3\Forms\One Time Maintenance\One Time

PROCEDURE FOR ONE TIME MAINTENANCE ON UNMAINTAINED ROADS

DATE	10/15/2012		MAINTENANCE AREA_		3
NAME	Fred Rossi				
ADDRESS	Deerhaven		PHONE		
NAME OF ROA	AD	East Av (South Segment)			
	SECTION	TOWNSHP		RANGE	
SPECIAL INSTRUCTIONS:		Job would require	e tree trimming	prior to work	being done.
Tree trimming	responsibility of	Deerhaven Subdivision.			
\$1,500 Max	ximum Time bed	jins at departure from maintenance bar	n and ends upon re	eturn to mainte	nance barn.
8 B	•		•		
ESTIMATE:	168.00	cu/yd clay	@	3.50 = \$	588.00
a .		ton limerock	@	15.00 = \$	0.00
3	3.00	hours grader	@	125.00 = \$	375.00
9	10.00	hours dump truck (14 cu/yd)	@	65.00 = \$	650.00
	3.00		@		
9	5,00	hours arm mower (A-boom)	@	Control Section VA	0.00
5		hours asphalt truck	@		0.00
į.		ton asphalt cement	@	75.00 = \$	0.00
(a		hours flatbed truck	@	50.00 = \$	0.00
<u> </u>		hours trackhoe	@	75.00 = \$	0.00
		hours bulldozer	@	125.00 = \$	0.00
•		hours gradall	@	110.00 = \$	0.00
		hours backhoe	@	40.00 = \$	0.00
		hours vibratory steel wheel roll		7	0.00
		hours roller, rubber tired	@	70.00 = \$	0.00
:■		hours road mixer	@	90.00 = \$	0.00
9		hours water truck	@		0.00
9		hours tractor/boxblade	@	35.00 = \$	0.00
(■		hours broom tractor	@	40.00 = \$	0.00
•		hours bobcat	@	30.00 = \$	0.00
		hours aerial lift truck	@	70.00 = \$	0.00
		hours pickup truck 3/4 ton	@	FOR THE PARTY OF T	0.00
			Ç	TOTAL:	1838.00
Check Right-o	of-Way				
Notify Proper	ty Owners of	Cost			
Receipt of Mo					

work Completed e_dept\Public Works\Road Operations\MaintArea3\Forms\One Time Maintenance\One Time

PROCEDURE FOR ONE TIME MAINTENANCE ON UNMAINTAINED ROADS

DATE	10/15/2012		MAINTEN	3	
NAME	Fred Rossi				
ADDRESS	Deerhaven		PHONE		
NAME OF RO	DAD	East Av (North Segment)			
	SECTION	TOWNSHP		RANGE	
SPECIAL INSTRUCTIONS:		Job would require	tree trimming	orior to work	being done.
Tree trimming	j responsibility of	Deerhaven Subdivision.			
\$1,500 M	aximum Time beg	jins at departure from maintenance barn	and ends upon re	eturn to mainter	nance barn.
ESTIMATE:					
	14.00	cu/yd clay	@	3.50 = \$	49.00
		ton limerock	@	15.00 = \$	0.00
	1.00	hours grader	@	125.00 = \$	125.00
	1.00		@	65.00 = \$	65.00
	1.50	hours front end loader	@	75.00 = \$	112.50
		hours arm mower (A-boom)	@	45.00 = \$	0.00
		hours asphalt truck	@	75.00 = \$	0.00
		ton asphalt cement	@	75.00 = \$	0.00
		hours flatbed truck	@	50.00 = \$	0.00
		hours trackhoe	@	75.00 = \$	0.00
		hours bulldozer	@	125.00 = \$	0.00
		hours gradall	@	110.00 = \$	0.00
		hours backhoe	@	40.00 = \$	0.00
		hours vibratory steel wheel rolle		70.00 = \$	0.00
		hours roller, rubber tired	@	70.00 = \$	0.00
		hours road mixer	@	90.00 = \$	0.00
		hours water truck	@	65.00 = \$	0.00
		hours tractor/boxblade	@	35.00 = \$	0.00
	-	hours broom tractor hours bobcat	@	40.00 = \$	0.00
		hours aerial lift truck	@ @	30.00 = \$ 70.00 = \$	0.00
		hours pickup truck 3/4 ton	@	70.00 = \$ $20.00 = $$	0.00
		Hours pickup truck 3/4 ton		TOTAL:	351.50
Check Right	-of-Way				
-	erty Owners of	Cost			
Receipt of M	ioney				

Wall, Treeva

From: Dean, Randy

Sent: Friday, October 05, 2012 12:02 PM

To: Warren, Dennis

Cc: Conway, Lori; Lee, Steve Subject: Deer Haven roads.

These are estimates for making the roads of the Deer Haven community in good shape.

Estimate time for tree trimming is with 4 guys and is only needed for passage of equipment to operate.

Grading estimate times include the spreading of clay if required.

East Av. was done in two segments because North Blvd. cuts the road in half and it is not aligned at the two points.

South Rd. 1,900 ft. long

Fair shape with some holes

1 hr. tree trimming

2 loads of clay

1 hr. grading

Far West Av. 1,150 ft. long

Bad shape. Narrow with grass and sandy in spots

No tree trimming required

3 loads of clay

1 hr. grading

East Ct. 325 ft. long

Recommend not to be graded

holes

ALL GRASS. We would make worse if we grade

North West Av. 900 ft. long

Fair shape with holes and soft spots

1hr. tree trimming

3 loads of clay

1 hr. grading

Central Av. 1,150 ft. long

Fair shape with several holes

2 hrs. tree trimming

4 loads of clay

1 1/2 hrs. grading

The south segment of East Av. 1,675 ft. long

Bad shape with many holes

1 ½ hrs. tree trimming

12 loads of clay

3 hrs. grading

South West Av. 1,125 ft. long

Fair shape with some soft spots

15 min. tree trimming

1 load of clay

1 hr. grading

Central Blvd. 1,900 ft. long

Fair shape with some holes

1 1/2 hrs. tree trimming

5 loads of clay

1 1/2 hrs. grading

Lakeview Blvd. 900 ft. long

Bad shape. Very narrow with soft spots and some

1 hr. tree trimming

5 loads of clay

1 hr. grading

North Blvd. 1,150 ft. long

Fair shape with holes and soft spots

1 hr. tree trimming

3 loads of clay

1 hr. grading

Central Ct. 200 ft. long

Fair shape with one soft spot

no tree trimming required

no clay needed

30 min. grading

The north segment of East Rd. 900 ft. long

Bad shape, narrow width

1/2 hour tree trimming

1 load of clay

1 hr. grading

Warren, Dennis

oger

From:

Dean, Randy

Sent:

Friday, October 05, 2012 12:02 PM

To:

Warren, Dennis

Cc:

Conway, Lori; Lee, Steve

Subject:

Deer Haven roads.

These are estimates for making the roads of the Deer Haven community in good shape.

Estimate time for tree trimming is with 4 guys and is only needed for passage of equipment to operate.

Grading estimate times include the spreading of clay if required.

East Av. was done in two segments because North Blvd. cuts the road in half and it is not aligned at the two points.

South Rd. 1,900 ft. long

Fair shape with some holes

2 loads of clay

1 hr. grading

South West Av. 1,125 ft. long

Fair shape with some soft spots

15 min. tree trimming

1 load of clay

1 hr. grading

1 1.5

10 -

Far West Av. 1,150 ft. long

Bad shape. Narrow with grass and sandy in spots

No tree trimming required

3 loads of clay

1 hr. grading

L 1.5

10 3

Central Blvd. 1,900 ft. long

Fair shape with some holes

1 1/2 hrs. tree trimming

5 loads of clay

1 1/2 hrs. grading

10 = 5

East Ct. 325 ft. long

Recommend not to be graded

holes

ALL GRASS. We would make worse if we grade

Lakeview Blvd. 900 ft. long

Bad shape. Very narrow with soft spots and some

1 hr. tree trimming

5 loads of clay

1 hr. grading

L=2 10=5

North West Av. 900 ft, long

Fair shape with holes and soft spots

1hr. tree trimming

3 loads of clay

1 hr. grading

North Blvd. 1,150 ft. long

Fair shape with holes and soft spots

1 hr. tree trimming

3 loads of clay

1 hr. grading

Central Av. 1,150 ft. long

Fair shape with several holes

2 hrs. tree trimming

4 loads of clay

1 1/2 hrs. grading

Central Ct. 200 ft, long

Fair shape with one soft spot

no tree trimming required

no clay needed

30 min. grading

The north segment of East Rd. 900 ft. long

Bad shape, narrow width

1/2 hour tree trimming

1 load of clay

1 hr. grading

The south segment of East Av. 1,675 ft. long

Bad shape with many holes

1 1/2 hrs. tree trimming

12 loads of clay

3 hrs. grading

15-12

Conway, Lori

From:

Dean, Randy

Sent:

Friday, October 05, 2012 12:02 PM

To:

Warren, Dennis

Cc:

Conway, Lori; Lee, Steve

Subject:

Deer Haven roads.

These are estimates for making the roads of the Deer Haven community in good shape.

Estimate time for tree trimming is with 4 guys and is only needed for passage of equipment to operate.

Grading estimate times include the spreading of clay if required.

East Av. was done in two segments because North Blvd. cuts the road in half and it is not aligned at the two points.

South Rd. 1,900 ft. long

Fair shape with some holes

1 hr. tree trimming

2 loads of clay

1 hr. grading

Far West Av. 1,150 ft. long

Bad shape. Narrow with grass and sandy in spots

No tree trimming required

3 loads of clay

1 hr. grading

East Ct. 325 ft. long

Recommend not to be graded

holes

ALL GRASS. We would make worse if we grade

North West Av. 900 ft. long

Fair shape with holes and soft spots

1hr. tree trimming

3 loads of clay

1 hr. grading

Central Av. 1,150 ft. long

Fair shape with several holes

2 hrs. tree trimming

4 loads of clay

1 1/2 hrs. grading

The south segment of East Av. 1,675 ft. long

Bad shape with many holes

1 1/2 hrs. tree trimming

12 loads of clay

3 hrs. grading

South West Av. 1,125 ft. long

Fair shape with some soft spots

15 min. tree trimming

1 load of clay

1 hr. grading

Central Blvd. 1,900 ft. long

Fair shape with some holes

1 1/2 hrs. tree trimming

5 loads of clay

1 1/2 hrs. grading

Lakeview Blvd. 900 ft. long

Bad shape. Very narrow with soft spots and some

1 hr. tree trimming

5 loads of clay

1 hr. grading

North Blvd. 1,150 ft. long

Fair shape with holes and soft spots

1 hr. tree trimming

3 loads of clay

1 hr. grading

Central Ct. 200 ft. long

Fair shape with one soft spot

no tree trimming required

no clay needed

30 min. grading

The north segment of East Rd. 900 ft. long

Bad shape, narrow width

1/2 hour tree trimming

1 load of clay

1 hr. grading

#1,500 MAX FOR

GRADER ALONE EXCEEDS MAX

COST@ #1,687.50

Hegg, Phyllis

From:

Cadwell, Welton

Sent:

Tuesday, September 25, 2012 8:57 AM

To: Subject: Stivender, Jim dearhaven on 42

Please call mr. fred rossie, pres. Of homeowners assoc. 669-5149

Welton

Welton G. Cadwell Commissioner, District 5 Lake County Board of County Commissioners 315 West Main Street PO Box 7800 Tavares FL 32778-7800

Phone: 352-343-9850 FAX: 352-343-9495 wcadwell@lakecountyfl.gov Caroniu

Please Note: Florida has a very broad public records law. Most written communication to or from government officials regarding government/public business is public record available to the public and media upon request. Your e-mail communication may be subject to public disclosure.

More build by the board of the

